Divide by 0.1 (B)

Find each quotient.

24 +0.1= 3.449 + 0.1 =
8.7+01= 1413 +0.1=
6.3152 + 0.1 = 9.087 + 0.1 =
4+-0.1= 8.9967 + 0.1 =
2.2004 +- 0.1 = 5.85+0.1=
7.33+0.1= 8.266 + 0.1 =
1.7 +01= 7.183 + 0.1 =
2.288 - 0.1 = 2.1507 +~ 0.1 =
7.0424 - 0.1 = 3.3865 + 0.1 =
55+0.1= 84 +0.1=
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Divide by 0.1 (B) Answers

24+-01=24

8.7+0.1=87

6.3152 - 0.1 = 63.152

4+0.1=40

2.2004 +- 0.1 =22.004

733 +0.1=73.3

1.7+01=17

2.288 +~ 0.1 =22.88

7.0424 +-0.1=70.424

55+ 0.1=55

Find each quotient.

3.449 = 0.1 = 34.49

1413 +0.1=14.13

9.087 +- 0.1 =90.87

8.9967 =+ 0.1 = 89.967

5.85+ 0.1 =585

8.266 +~ 0.1 = 82.66

7.183 +-0.1=71.83

2.1507 =+ 0.1 = 21.507

3.3865 + 0.1 = 33.865

84-+0.1=284
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